















Let $\vec{E} = \vec{u}(x, y, z)A(t)$ (2) and substitute in (1), we have $\nabla^2 \vec{u} = -k^2 \vec{u}$ (3) $\frac{d^2\vec{A}}{dt^2} = -(ck)^2\vec{A}$ (4) Where k is a constant. Equation (4) has the general solution $A = A_0 \sin(\omega t + \phi)$ (5) Where A_{μ} and ϕ are arbitrary constants and $\omega = ck$. The solution given by (5) corresponds to a standing wave configuration of e.m. field within the cavity. In fact the amplitude of oscillation at a given point of the cavity is constant in time. A solution of this type is called an e.m. mode of the cavity. 531 phys LASER PHYSICS Dr. Abdallah M.Azze

Equation (3) is Helmholtz eq., under B.C. gives the following ; $\begin{array}{l} u_{x} = e_{x} \cos(k_{x}x) \sin(k_{y}z) \sin(k_{z}z) \\ u_{y} = e_{y} \sin(k_{x}x) \cos(k_{y}z) \sin(k_{z}z) \end{array} \right\}$ (6) $u_z = e_z \sin(k_x z) \sin(k_y z) \cos(k_z z)$ Satisfy eq.(3) for any value of e_{x}, e_{y}, e_{z} , provided that ; $k^{2} = k_{x}^{2} + k_{y}^{2} + k_{z}^{2}$ (7) The solution (6) already satisfy the B.C. (*) on the three planes x=0, y=0, z=0 If the condition that eq. (*) should also be satisfied on the other walls of the cavity, we have; $k_x = \frac{l\pi}{2a}, k_y = \frac{m\pi}{2a}, k_z = \frac{n\pi}{L}$ *l*, *m* and *n* are positive integers \Rightarrow represent the number of nodes that the standing wave modes has along x, y and z respectively 531 phys LASER PHYSICS Dr. Abdallah M.Azz









7

The correction was, however, not at all an easy task to find but
required totally new concepts to be taken into account. Instead of
assuming totally continuous spectrum the introduction of the light
quantum lead to the cutoff that was also intuitively needed.
Quantum hypothesis: Electromagnetic energy at
frequency v can only appear as a multiple of a step size hv.
Let the allowed energies be
$$E_{1}, E_{2}, E_{3}, \dots$$
.
Then $\varepsilon_{n} = n h v$ and the relative probability of obtaining an energy E_{1}
is $\exp(-E_{1}/kT)$ (i.e., a Boltzmann distribution)
 $\langle \varepsilon \rangle = \frac{1hve^{-hv/kT} + 2hve^{-2hv/kT} + 3hve^{-3hv/kT} + \cdots}{1 + e^{-hv/kT} + e^{-2hv/kT} + e^{-3hv/kT} + \cdots}$
 $= \sum_{1}^{\infty} nhve^{-nhv/kT}$
 $= \sum_{1}^{\infty} e^{-nhv/kT}$
 $= \frac{hv}{\sum_{1}^{\infty} e^{-nhv/kT}} = \frac{hv}{e^{hv/kT} - 1}$

8











